e T 1L =

o113 SRS 2 B2 (e =3RS ) IefHlER

B 114 44 H 28 H (2EHi—)
EIR/ 1 2 3 4
i 8:30~9:30 10:40~11:40 13:30~14:30 15:00~16:00
12:30~13:20
e 5 e pk NS
e — 1-4 1-4 s 1-4
e (b L > 1)
5-13 5-13 9-13
g 11444 H29H (BH)
E(IR/ 1 2 3 4
B[ 8:30~9:30 10:40~11:40 13:30~14:30 14:50~16:00
12:30~13:20
fepk
B
== B [EpEE A %ﬁ

AN e

>

HaiE ¢ O B B 70 e o HERSEN Ry 60 8 -
FEAr e (ZEARiTRsEfGE: « AEEEHE) -

FHAfRAEE e o
oA FARREY - WEHF B EEERA -
FHBERBUERERL - AT RERATA 3C ETEE (WETTR  ETF8&

F) AL -

S EFRSCESN - AMFBELED M > WERE ~ K5 -
R ENEEREE > (AR TSGR RN R B R ) R -

REXEBEN SRS  —BREERAAERGESE - THREFERZETER

ERAHERSE




